RRB Secunderabad: Senior Section Engineers Exam
(Held on 21-12-2014)
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10.

11.

12,

14.

In a digital circuit a counter is basically a __which counts the number of clock
pulses that have arnived at its clock input. Counters use as their basic unit. Fill in
the blanks respectively.
(A) Register, Flip-flop (B) NAND gate, (C) Register, NAND (D) Flip-flop, Toggle
Register gate
"Khalsa" was founded by-
(A) Guru Gobind (B) Guru Ramdas (C) Guru Nanak (D) Guru Arjun Dev
Singh
In a classical blood pressure measuring instrument in which the doctor observes the rise

and fall of mercury, the hand air pump is attached to a-

(A) Isobar (B) Transducer {7 Manometer (D) Mercury column

The terms Cope, Drag and Core are associated with-

(A) Transformers (B) Castings (C) Laminar flow of (D) Stellar evolution
liquid

Conservation of energy corresponds to which law of thermodynamics?
(A) Zeroth law (B) First law (C) Second law (D) Third law

According to IPCC, three factors contributing to Global warming are :
1) CO; emissions

2) Change of land use deforestation

3) Non-veg food

Place them in the order of their contribution to global warming.

(&) 1,2.3 B) 1,32 € 3,1,2 32,15
Once 'X' is turned ON, even after removing the gate voltage, 'X' remains ON. 'X' is a:
(A) Transistor (B) FET (C) Thyrstor (D) MOSFET

Government stipulates limit of concentration of sulphur dioxide in ambient air at 50 units.
The unit is:

(A) gfec (B) mg/litre (€) mg/m’ (D) pg/m’

In an orthogonal projection the axis of a cylinder or a cone is denoted by-

(A) A thin line (B) A medium dashed (C) A sequence of long (D) Dashes of uniform
line and short dashes lengths

223 = (22)3 is equal to:
() 2 (B) 2 (©) 272 (D) 27

[n our house when we switch on heavy load appliances, we notice that there is slight dip in
the glow of the bulb that was already switched on. This is due to-

(A) Heavy current drawn by heavy load (B) Additional resistance added to the circuit

(C) Resistance of electrical wiring (D) Resistance of part of the circuit decreasing
from infinity to a positive value

In 5.1 system, unit of stress is:

(A) kg/cm? (B) N E'N/m? (D) Watt
Toaster and electric iron, that are commonly used electrical appliances are mainly-
{}l{ Inductive load (B) Capacitive load (C) Resistive load (D) None of these

"Ensure correct joint preparation, correct nozzle size and filler rod size and correct travel
speed". We are talking about-
(A) Gas welding (B) Arc welding (C) Thermit welding (D) Steam welding
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25,
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29.

log, 5% log,6%Xlog,7 is equal to:

2 -3 4

(A) Iug[i-J (B) log,7 (C) ]ng(;] (D) log.4
Stomata are located in-

(A) Redbloodcells  (B) Chlorophyll (C) Stomach (D) Leaves
sin '(%z) + tan”'(1) = ?

(A) 30° (B) 45° (C) 75° (D) 90°
Arrange the following fractions in ascending order.

z 24
10°8 5
3 7 4 34 7 i 3 7 7 3 4
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What is the boiling point of water in Kelvin Scale?

(A) 100K (B) 273 K (C) 373K (D) 300 K
The sum of first 7 odd natural numbers is:

(A) n*1 (B) n* (©) (n+1y? (D) (n-1)?
Assume that a 1 ton air conditioner is required to cool a room of size 14" x 14" x 14'. How
many 1ton ACs would be required for a hall of size of 24" x 24" of the same roof height as
that of the previous room?

A) 2 ®) 3 ©) 4 D)5
Find the next number in the series.

33, 34, 32, 35, 31, 36, .

(A) 30 (B) 37 (C) 38 (D) 29
The heart of the "Microwave oven' that produces the microwave range of radiation is
called-

(A) Cyclotron (B) Oscillotron (C) Vanable frequency (D)) Magnetron

oscillator
To use an AC motor in a DC circuit, which equipment would be required additionally?
(A) Inductor (B) Capacitor (C) Rectifier (D) Inverter
What is the ratio of angular speed of second's needle and hour's needle of a clock?
(A) 1:60 (B) 60:1 (C) 3600 :1 (D) 720 : 1
Acid rain is caused by:
(A) CO & CO, (B) SO, & O, (C) SO, & NO, (D) NO, & O,
Which planet has hot turbulent atmosphere dominated by carbon-di-oxide?
(A) Venus (B) Mars (C) Jupiter (D) Neptune
Air India's losses in previous financial year were to the tune of (in crores of rupees):
(A) 4 (B) 40 (C) 400 (D) 4000
Consider the following orthogonal projections of an object is and answer what could this
object be:
{/’ B
- ..__.I:.. = i e ————
N

(A) Circle (B) Sphere (C) Ellipse (13) Spheroid
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